
3D7UT2CL6AG123301 2010 DJ

009ETJ - 6.7L Turbo Diesel; Engine   405 - Crankshaft, Crankshaft Bearings,Damper and Flywheel 6.7L Diesel [ETJ]

Prop
ert

y o
f C

hry
sle

r G
rou

p L
LC

 

 3/06/15 Page 1



Pos Description PartNumber Qty Eng Trans Line
1 BOLT

1 BOLT, Mounting, Vibration
Damper To Crankshaft 68002984AA 4 ETJ DG7 7

1 BOLT, Mounting, Vibration
Damper To Crankshaft 68002984AA 4 ETJ DEG 2

2 ADAPTER
2 ADAPTER 68002989AA 1 ETJ DG7 7
2 ADAPTER 68002989AA 1 ETJ DEG 2
3 DAMPER, Crankshaft
3 DAMPER, Crankshaft 68005166AA 1 ETJ DG7 7
3 DAMPER, Crankshaft 68005166AA 1 ETJ DEG 2
4 DOWEL PIN
4 DOWEL PIN 05086727AA 1 ETJ DEG 7
4 DOWEL PIN 05086727AA 1 ETJ DG7 2
5 GEAR, Crankshaft
5 GEAR, Crankshaft 05086726AA 1 ETJ DG7 7
5 GEAR, Crankshaft 05086726AA 1 ETJ DEG 2
6 CRANKSHAFT
6 CRANKSHAFT 68003405AA 1 ETJ DG7 7

6 CRANKSHAFT,
CRANKSHAFT R8003405AA 1 ETJ DG7 7

6 CRANKSHAFT 68003405AA 1 ETJ DG7 7

6 CRANKSHAFT,
CRANKSHAFT R8003405AA 1 ETJ DG7 7

6 CRANKSHAFT 68003405AA 1 ETJ DG7 7

6 CRANKSHAFT,
CRANKSHAFT R8003405AA 1 ETJ DG7 7

6 CRANKSHAFT 68003405AA 1 ETJ DG7 7

6 CRANKSHAFT,
CRANKSHAFT R8003405AA 1 ETJ DG7 7

6 CRANKSHAFT 68003405AA 1 ETJ DEG 2

6 CRANKSHAFT,
CRANKSHAFT R8003405AA 1 ETJ DEG 2

6 CRANKSHAFT 68003405AA 1 ETJ DEG 2

6 CRANKSHAFT,
CRANKSHAFT R8003405AA 1 ETJ DEG 2

6 CRANKSHAFT 68003405AA 1 ETJ DEG 2

6 CRANKSHAFT,
CRANKSHAFT R8003405AA 1 ETJ DEG 2

6 CRANKSHAFT 68003405AA 1 ETJ DEG 2

6 CRANKSHAFT,
CRANKSHAFT R8003405AA 1 ETJ DEG 2

7 PIN, Crankshaft Gear

3D7UT2CL6AG123301 2010 DJ

009ETJ - 6.7L Turbo Diesel; Engine   405 - Crankshaft, Crankshaft Bearings,Damper and Flywheel 6.7L Diesel [ETJ]

Prop
ert

y o
f C

hry
sle

r G
rou

p L
LC

 

 3/06/15 Page 1



Pos Description PartNumber Qty Eng Trans Line
7 PIN, Crankshaft Gear 04429483 1 ETJ DG7 7
7 PIN, Crankshaft Gear 04429483 1 ETJ DEG 2

8 BEARING KIT, Crankshaft,
Standard, See Note

8 BEARING KIT, Crankshaft,
Standard, See Note 68002987AA 1 ETJ DG7 2

8 BEARING KIT, Crankshaft,
Standard, See Note 68002987AA 1 ETJ DG7 7

8 BEARING KIT, Crankshaft,
Standard, See Note 68002987AA 1 ETJ DEG 2

8 BEARING KIT, Crankshaft,
Standard, See Note 68002987AA 1 ETJ DEG 7

9
BEARING, Crankshaft
Thrust, Serviced In
Crankshaft Bearing Kit See
Note, (NOT SERVICED)

10 WASHER, Flat 06501681 8 ETJ DEG 2 7
11 BEARING, Pilot 52107562AB 1 ETJ DEG 2 7

12 FLYWHEEL, Engine Dual
Mass, Manual Transmission 52104721AG 1 ETJ DEG 7

13 PLATE, Adapter
13 PLATE, Adapter 52104720AE 1 ETJ DEG 7
13 PLATE, Adapter 52104720AE 1 ETJ DEG 2

14 BOLT, Hex Flange Head,
M12x1.75x40.00

14
BOLT, Hex Flange Head,
M12x1.75x40.00, Mounting,
Transmission Adapter Cover
To Cylinder Block

04761248 8 ETJ DG7 7

14
BOLT, Hex Flange Head,
M12x1.75x40.00, Mounting,
Transmission Adapter Cover
To Cylinder Block

04761248 8 ETJ DEG 2

15 DOWEL PIN
15 DOWEL PIN 04429678 2 ETJ DG7 7
15 DOWEL PIN 04429678 2 ETJ DG7 2
16 ADAPTER, Transmission

16 ADAPTER, Transmission,
Manual Transmission 68002974AC 1 ETJ DEG 2

16 ADAPTER, Transmission,
Manual Transmission 68002974AC 1 ETJ DEG 7

16 ADAPTER, Transmission,
Automatic Transmission 68005233AB 1 ETJ DG7 2

16 ADAPTER, Transmission,
Automatic Transmission 68005233AB 1 ETJ DG7 7

3D7UT2CL6AG123301 2010 DJ

009ETJ - 6.7L Turbo Diesel; Engine   405 - Crankshaft, Crankshaft Bearings,Damper and Flywheel 6.7L Diesel [ETJ]

Prop
ert

y o
f C

hry
sle

r G
rou

p L
LC

 

 3/06/15 Page 2



Pos Description PartNumber Qty Eng Trans Line

17 BOLT, Hex Flange Head,
M8x1.25x20.00

17
BOLT, Hex Flange Head,
M8x1.25x20.00, Mounting,
Transmission Adapter Cover

04429630 2 ETJ DG7 7

17
BOLT, Hex Flange Head,
M8x1.25x20.00, Mounting,
Transmission Adapter Cover

04429630 2 ETJ DEG 2

18 COVER, Transmission
Adapter

18 COVER, Transmission
Adapter 05086759AA 1 ETJ DG7 7

18 COVER, Transmission
Adapter 05086759AA 1 ETJ DG7 2

19 RETAINER, Crankshaft
Rear Oil Seal

19 RETAINER, Crankshaft
Rear Oil Seal 05086755AC 1 ETJ DG7 7

19 RETAINER, Crankshaft
Rear Oil Seal 05086755AC 1 ETJ DG7 2

20 GASKET, Crankshaft Rear
Oil Seal Retainer

20 GASKET, Crankshaft Rear
Oil Seal Retainer 05086754AA 1 ETJ DG7 7

20 GASKET, Crankshaft Rear
Oil Seal Retainer 05086754AA 1 ETJ DEG 2

21 FLEXPLATE
21 FLEXPLATE 68005249AA 1 ETJ DG7 7
21 FLEXPLATE 68005249AA 1 ETJ DG7 2

22 PLATE, Flexplate or
Flywheel Backing

22 PLATE, Flexplate or
Flywheel Backing 04798968 1 ETJ DG7 7

22 PLATE, Flexplate or
Flywheel Backing 04798968 1 ETJ DEG 2

23 BOLT, Hex Head

23 BOLT, Hex Head, Mounting,
Flywheel To  Crankshaft 05085962AA 8 ETJ DEG 7

23 BOLT, Hex Head, Mounting,
Flywheel To  Crankshaft 05085962AA 8 ETJ DEG 2

24 BOLT, Hex Head,
M12x1.25x18.00

24
BOLT, Hex Head,
M12x1.25x18.00, Mounting,
Flexplate To Crankshaft

04429522 8 ETJ DG7 7

3D7UT2CL6AG123301 2010 DJ

009ETJ - 6.7L Turbo Diesel; Engine   405 - Crankshaft, Crankshaft Bearings,Damper and Flywheel 6.7L Diesel [ETJ]

Prop
ert

y o
f C

hry
sle

r G
rou

p L
LC

 

 3/06/15 Page 3



Pos Description PartNumber Qty Eng Trans Line

24
BOLT, Hex Head,
M12x1.25x18.00, Mounting,
Flexplate To Crankshaft

04429522 8 ETJ DG7 2

25 SEAL, Crankshaft Oil, Rear
25 SEAL, Crankshaft Oil, Rear 05114027AA 1 ETJ DG7 7
25 SEAL, Crankshaft Oil, Rear 05114027AA 1 ETJ DG7 2
25 SEAL, Crankshaft Oil, Rear 05015705AA 1 ETJ DEG 2 7

26 SEAL, Transmission
Adapter

26 SEAL, Transmission
Adapter 68038153AA 1 ETJ DG7 2

26 SEAL, Transmission
Adapter 68038153AA 1 ETJ DG7 7

26 SEAL, Transmission
Adapter 68038153AA 1 ETJ DEG 2

26 SEAL, Transmission
Adapter 68038153AA 1 ETJ DEG 7

27 BOLT, Hex Flange Head,
M6x1.00x16.00

27
BOLT, Hex Flange Head,
M6x1.00x16.00, Mounting,
Rear Crankshaft Oil Seal
Retainer to Cylinder Block

04429638 6 ETJ DG7 7

27
BOLT, Hex Flange Head,
M6x1.00x16.00, Mounting,
Rear Crankshaft Oil Seal
Retainer to Cylinder Block

04429638 6 ETJ DEG 2

28 BOLT, Hex Head,
M10x1.5x25.00

28
BOLT, Hex Head,
M10x1.5x25.00, Manual
Transmission, Mounting
Driveplate To Flywheel

06508033AA 8 ETJ DEG 7

28
BOLT, Hex Head,
M10x1.5x25.00, Manual
Transmission, Mounting
Driveplate To Flywheel

06508033AA 8 ETJ DEG 2

29 BOLT, 06508406AA, (NOT
SERVICED)

3D7UT2CL6AG123301 2010 DJ

009ETJ - 6.7L Turbo Diesel; Engine   405 - Crankshaft, Crankshaft Bearings,Damper and Flywheel 6.7L Diesel [ETJ]

Prop
ert

y o
f C

hry
sle

r G
rou

p L
LC

 

 3/06/15 Page 4


